P

Keq U*z.o—] - (- o251

Name Answc r K C/)’ Hour

Equilibrium Calculations

Honors Chemistry

Write the expression and calculate the Keq: SOs(g) + H,0(g) = HySO4(l)
e [SO;3]=0.400-M, [H,0] = 0.480-M, [H,S0,] = 0.600-M
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Write the expression and calculate the Keg: Hy(g) +Clg) =  2HCI(g)

e [H,] =0.010-M, [Cl,] = 0.010-M, [HCI] = 0.0001-M
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Write the expression and calculate the Keq: No(g) +3Hy(g) =  2NHs(g)
e [N,] =0.044-M, [H,] = 0.012-M, [NH;] = 0.0034-M
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Write the expression and calculate the Keg: 2C0(g) +0,(g) = 2CO,(g)
e [CO]=0.5-M, [0,] =0.5-M, [CO,] =2.5-M
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Write the expression and calculate the Keg: PCls(s) + H,0 (g) = 2HCI(g) + POCl3(g)
e a2.0-L flask contains 0.075 mol of PCls, 0.050 mol of H,0, 0.750 mol of HCl, and 0.500 mol of POCl3 Find M
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6. At 25°C, the Ke,= 798 for the following reaction: 250,(g) + O,(g) = 2SOs(g)
e Calculate the equilibrium concentration of [O,] ina container of [SO,] = 4.20-M and [SO3] =11.0-M
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7. At 100°C, the K.,=680 for a the following reaction: 250,(g) + O,(g) = 2S0s(g)

e Calculate the equilibrium concentration of [SO;] in a 4.0-L container with 0.6 mol of SO, and 0.6 mol of O,
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8. At 250°C, the Keq= 55.6 for the following reaction: Hy(g) + lL(g) = 2HI(g)

e Calculate the equilibrium concentration of [HI] ina container of [H,] = 0.20-M and [l,] =0.20-M
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9. At a certain temperature, the Ke,=14 for the following reaction: Ho(g) + S(s) = HiS(g)
e Calculate the equilibrium concentration of [H,] in a 2.0-L container with 0.6 mol of H,s and 1.4 mol of S
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10. At 100°C, the Keq=1.47 X 107 for a the following reaction: 2505(g) = 2S0,(g) + Oa(g)

e Calculate the equilibrium concentration of [SO5] in a 2.0-L container with 4.0 mol of SO, and 5.0 mol of O,
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